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(Mathamatical or Classical Definition of Probability) 
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2. (Statistical defn  or

Relative frequency approach to probability)
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 1

(j)  5
0C ..........   (k)  n ............

(l)  p- q-



(m)

(n)

(o)
10 7

17
3 2

5

C C

C


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(Co-rrelation)
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c

1.

2. factors

3.

(Probable Error)

= P.E(r)   0 6745 1 2

. r

N

1. P.E(r) r- r-

r- r-

r-

2. r <PE(r) r-

3. r > 6PE(r) r-

4. r-

1. PE(r)

2. PE(r)

3. PE(r)

r-



1. r= +1 

2. r= –1, 

3. r = 0, 

4. r- 1-

5.

1. r- +1 –1 –1< r < +1

2. (origin) scale ‘r’

3. r–

4. × y r- r
xy

= r
yx

5. r

6. x y- x- y x –y 

7. x y- ax+by+c=0

‘a’ & b- r- +1 a b- r-
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a 10 12 15 20 23

2 7 6 4 1
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 
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
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(d)  : N=10, x=125, y=80, x2=1586, y2=650, xy=1007

(e)  : N=10, x=140, y=150, x–10)2=180, y–15)2=215,

x–10)(y–15) = 60
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 
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0 6
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100 100
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13

10
.

N

 6 13N

 36 169N  N 169
36

5~

2 (a) X Y 12 x = 30, y = 5,

x2 = 670, y2 = 285, xy = 334

(x=10, y=14)- (x=11, y=4)

x = 30–11+10=29

y = 5–4+14=15

x2 = 670–112+102 = 649

y2 = 285–42+142 = 465

xy = 334–11×4+10×14 = 430

N = 12

r-

r = 0.78

(b) x Y 2x+3y=4, x y

 y N
y y  1 2a f

  10 1 2

N
y

  100 1 2

N
y

  y N2 100



x y- ax+by+c=0 

 r =+ 1 a b-

     = –1 a b-

a >0, b >0 a b-

 r  = –1 7 

(c)  x y- (20,5), (21.4), (22,3)

20 + 5 = 25,  21 + 4 = 25, 22 + 3 = 25

x y- x+y=25

 x y- +1 a b-

X Y- r- = –1

(d)  x Y- r- 0.5 2x–4 3–2y-

a b- x- +, y- (–)

r = – 0.5

3 

0–10 100 55

10–20 60 40

20–30 40 40

30–40 36 40

40–50 24 36

50–60 11 22

60–70 6 18

70–80 3 15

x Y

x-

y-



 40
60 000

100000
,

= 67

r- 0.898

4 

(i) r-  0 1

(ii) 1.6

(iii) r=0 

(iv) x y = 0.6 x –y – 0.6

(v) x- y- 0.3 (3x–4) (4–y) – 0.3

(vi) x- y- r=0.8 x-
1
2

y r = 0.4 

(vii)  r-

(viii) r-

(ix) r-

(x) –x –y

(xi) x- –y –x y- r-

(xii) r=0 

(xiii) x- y- r  1
3

x  1
3

y  1
3

r = 1 

(xiv) x- y- r  1
2

2x 3y r = 1 

(xv) x- y y- × r-

(i) r- –1 1-

(ii) r- –1-

(iii) r=0 

(iv) y- y- y ya f  y ya f
(v) (4–y)- –(y–4) 

(vi) r- r- 0.8 



(vii) r-

(viii) r- –1 

(ix) r-

(x) x y-

(xi) x y- r-

(xii) r = 0-

(xiii) r- r  1
3

(xiv) r- r  1
2

(xv) r
yx 

= r
xy 

r-

(i) r =0.5, N = 25 r-

         (ii) r = 0.7 N=25 r-

(i) r r ± PE(r)

PE(r)=0.6745×
1 1 0 25

5

2  r

N

.
×0.6745

       = 0.15×0.6745=.101175

  0.5 ± 0.10 0.40 0.60

(ii) PE(r)= 0.6745×
1 0

5
 .49  0 6745 0 51

5
. .

= 0.1349 × 0.51

= .068799

 6PE(r) = 6× .068799

= .412794

 r= o.7> 6PE(E) i.e.> 0.41

 r-



1.

2.

3.

4. r = +1, –1 O

5.

6.

7.

8.

9. 9

10. 

(a)  (b)  (c)  (d) 

 (e)  (f)  (g)

 (h) (i) 

 (j)  (k) 

(a)  (b)  (c)  (d)  (e)  (f) 

(g)  (h)  (i)   (j)  (k) 

11. r-

(a) x: 1 2 3 4 5 6 7 8 9 10 11

y: 4 7 10 13 16 19 22 25 28 31 34

(b) x: 43 44 46 40 44 42 45 42 38 40 42 57

y: 29 31 19 18 19 27 27 29 41 30 26 10

(c) X i

i



 125

1

25

, y i

i



 100

1

25

,  x i

i

2

1

25

650

 ,  y i

i

2

1

25

460

 ,  x yi i

i



 508

1

25

(a) 0.95 (b) – 0.733 (c) 0.207



12. N=25, x=125, x2=650, y=100, y2=460, xy=508

8, 6 6,8

0.26 

13. r-

N=10, x=140, y=150, (x–10)2=180, (y–15)2=215, (x–10)(y–15)=60

0.92 

14. N-

r=1, xy-330, y2=990, x- =10, X x x
y Y Y

 
 

N=11

15. r-

x: 6 2 10 4 8

y: 9 11 ? 8 7

x y 6 8,

16.

62 72 68 58 65 70 66 63 60 72

50 65 63 50 54 60 61 55 54 65

17. x y 50 

x  10,  x
=3, y  6 , 

y
=2, r= 0.3,

(x=10, y= 6)

r-

0.3

18. x y-

(a) {(x, y) = (10, 4), (11, 3), (12, 2), (14, 0), (8, 6)}

(b) {(x, y) = (15, 3), (20, 8), (25, 13), (30, 18)

r-

(i) – 1,   (ii) 0.5   (iii) 1   (iv) 0

(a) (b) 

(a) r = –1  (b) r=+1

 * * *
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